DISCHI FRENO
JEVAVST g R AKE DISKS

54 In vigore dal - Effective from 15-12-2021




=2k

KART

J A PAN

OTK KART JAPAN PRICE LIST
2025/2/1~

BRAKE DISKS
Description

A [0051.E0A Y77°b-47" 429 MICRO 170mm Micro rear brake disk @ 170 mm ¥20,100 ¥22,110
B  [0051.EF Y77 b-$7" 129 BSM4 160-10mm Mini EV rear brake disk @ 160x10 mm ¥30,500 ¥33,550
C |0051.ED V77" b-$7" 120 BSM Rookie - Mini Kid - Mini Neos rear brake disk @ 180 mm ¥23,600 ¥25,960
D |0051.D0 U77"b-47" 4129 D.180mm (BS4-6) Self-ventilated rear brake disk @ 180x13 mm ¥43,100 ¥47,410
E |0051.DC Y77°b-47" 429 D.206-16mm/¥rBY Self-ventilated rear brake disk @ 206x16 mm ¥48,100 ¥52,910
G.D.AL30-160FL |7° V47" {AYBSM4 160-10mm+70-74Y7" N7*KIT Hub AL @ 30 mm + floating brake disk @ 160x10 mm ¥49.600(  ¥54,560
F  |o101.HoDX J0YRI° b-45" 420 BSS-KZ (R) Right front brake disk BSS KZ ¥34500)  ¥37,950
F  [0101.HOSX JoubI* b-37" 129 BSS-KZ (L) Left front brake disk BSS KZ ¥34,500 ¥37,950
G |0257.00KIT 7 {A9F07° 07953 KIT Protection kit for brake disk @ 206x16 mm OK ¥13,900 ¥15,290
G |0257.COKIT 7 4A9F407° 079937 KITIKZ Protection kit for brake disk @ 206x16 mm KZ ¥15,000 ¥16,500
G |0257.DOKIT 7 {A9+4027° 079937 KIT/DD2 Protection kit for brake disk @ 206x16 mm DD2 ¥15,000 ¥16,500
H [0257.01 7T AT 0D H Nylon protection for brake disk @ 206x16 mm Red ¥9,400 ¥10,340

H |0257.01N Nylon protection for brake disk @ 206x16 mm Black
1 [0257.02 7 4AIH0Y7°0795357° -} Disk protection's fixing plate OK ¥4,200 ¥4,620
I |0257.C2 7 AIFH07° 0795397° V-MKZ Disk protection's fixing plate KZ ¥5,100 ¥5,610
I |0257.D2 7 4A9+407° 079%377° b-MDD2 Disk protection's fixing plate DD2 ¥5,100 ¥5,610
J  |V.TCE5X25 Fry7°il” hb 5x25 TCEI screw 5x25 mm ¥40 ¥44
K |V.TCE6X22 Fry7° il hb 6x22 TCEI screw 6x22 mm ¥40 ¥44
L [V.TCE6X25 FryI°il” b 6x25 TCEI screw 6x25 mm ¥40 ¥44
M  |V.TCE6X50 $ry7°ik bb 6x50 TCEI screw 6x50 mm ¥70 ¥77
N [V.TCER6X20 $ry7°i° b 6x20 LOW (70VMJ" V-7 12BSS ) TCEI Cut allen screw 6x20 mm ¥40 ¥44
0 |[RP.5X11 J93¥- D.5x11 Washer @ 5x11x1 mm ¥10 ¥11
P |[R.P.6X12 Jy3p- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
Q |RP.8X17X3 J9¥- D.8x17x3 Washer @ 8x17 mm ¥40 ¥44
Rif. |D.M5C 7 b-$5rUN° -£° vy M5 Metal self-locking nut M5 ¥30 ¥33
S [D.meC tvonyory e Metal self-locking nut M6 ¥30 ¥33
T |D.MeAB. A7095Fy M6 (F40) A.B. nut M6 ¥20 ¥22
U ([D.msC oY1y 8 (h%) Metal self-locking nut M8 ¥30 ¥33






